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L[ Z]nd87 )4 4,952 3,473 1,479
1.HFT$) 4,952 3,473 1,479 A E3H7] 79 ¢ 363,000 #3h= 1,089,000
mlol=L ¢ : 130,0009#37)= 390,000
g)i]ﬂﬁ&%ﬂﬁﬂﬁ*}?iﬂl 21,020 21,020 0
1.A]4dH] 14,420 14,420 0
2.1 4] 6,600 6,600 0
? %[')i] ZRPEARREAR 83,000/ 100,000 -17,000
1. dukgn) 2,240 0 2,240\ 2~vtE A ] 560,000 %470 8= 2,240,000
2. 1] F7w) 80,760  100,000| 19,240 —iloﬂgéoi{;oziﬁ? B ~100,000,000
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2nE A3 3,710,000 «67) 3= 22,260,000
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1. 4 ¥kEgH 5,276 5,276 0
2. 05 H| 1,000 1,000 0
2.9 Y7 R 44,526| 42,159 2,367
LIFIHAERAY &9 18,288 15,921 2,367
1. d¥kEgH 3,688 3,688 0
2.0n 6,333 6,333 0
3. HFT S 8,267 5,900 2,367| S BANARFTY ¢ 591,750 #43]= 2,367,000
ig_ Ej%]w"ril% TTaa 2 AA 8.600 8.600 0
LA7I 8= 5,000 5,000 0
2. 438 Eg 1,000 1,000 0
3N EETaT 2,600 2,600 0
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1717 A2 22491 A H] 720 720 0
2. gk g 16,718 16,718 0
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1. YR 310 900 900 0
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1. <jnln] 2,000 2,000 0
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1. <ju)u] 2,000 2,000 0
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